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[1]0s0<2r DL, KOFRK, FEXEMIT, [2] 0sx<2r DL &, ROFRREMT, [3] 0sx<2r DL &, KOFEAEMT,
(1) 2sin?6 —3cosf =0 (2) 2cos?0 —3sin# —3=0 (1) cos2x=cosx (2) sin2x=cosx (3) 2cos2x +4cosx —1=0 (1) sinx++/3cosx=-1 2) 2sinx —cosx)=+6
(3) 2sin®@ +cosf —2=0 4) (2sin@ ++/3)sinf =0 (4) sinx(l+cos2x)+sin2x(1+cosx)=0 (6) cos2x=sinx () +/3sin2x —cos2x = —+/2 (4) sinx—cosx=1
(5) (sin® +1)(2sinf —1)=0 (6) 2c0s?0 —5cos0 —3=0 (6) cos2x=cosx (7) sin2x =cosx (8) sin2x=+/2sinx 6 2Asinx+cosx)= VG © Sianosx:\lﬁ
(7) 2sin?0 —3cosf =0 8) /3tan’0 —2tanfd —/3 =0 (9) cos2x=3cosx -2




